(rampPIronN:

Power & force

NnntocTpmpoBaHHbIA KaTanor 3anacHblX YacTen

Moaenb: GC243E

Ne ApTuKyn HavmeHoBaHue K-Bo Ne ApTUKYN HavmeHoBsaHue K-80
1 01610310029 KpoHLwTelH KpenneHus Konec 1 21 01610310059 LInAMHT KpenneHua dpes 2
2 01610310022 laiika M8 2 22 01610310066 ®pesa D 1
3 01610310023 Laiiba 8x24x2 2 23 01610310061 ®eTposan waiiba 2
4 01610310024 Koneco 2 24 01610310065 ®pesa C 1
5 01610310025 Laiba 14x20x2 2 25 01610310064 Kosxyx ¢pes B 1
6 01610310026 Ocb Koneca 1 26 01610310063 Koxyx ppes A 1
7 01610310027 PerynupoBoyHas BTy /KA 1 27 01610310062 ®pes3a B 1
8 01610310031 TpybKa ocu Koneca 1 28 01610310060 Ppesza A 1
9 01610310032 Brynka 1 29 01610310046 MpaBaa NonoBMHa Kopnyca peayKTopa 1
10 01610310033 Mpy>knHa 1 30 01610310050 LLlectepHa peayKTopa 1
11 01610310039 BapabaH cuennexus 1 31 01610310051 Ban npusoaa dpes 1
12 01610310040 CanbHuK 12x32x5,5 1 32 01610310052 LLInoHKa 5x6,5x18 1
13 01610310041 MoawunnHmk 6901-2RS 2 33 01610310037 KpoHLwTelH cowHmka 1
14 01610310042 LWanba 16x31,5x1 1 34 01610310034 COWHMK 1
15 01610310045 YepBayHbIi Ban 1 35 01610310036 LUNAWHT nanbLua COWHMKA 1
16 01610310041 MoawunnHuk 6901-2RS 2 36 03090010014 MoawwnnHuk 6002-2RS 1
17 01610310049 MpuKMMHOE KonbLo 1 37 01610310044 MoAWWNHMK ynopHbiii 51202 1
18 804029 NoawunnHuk 6004-2RS 2 38 01610310035 Maney, 8x24,5x3,2 1
19 01610310047 CanbHuUK 19x30x5 2 39 01610310068 PeayKTop KOMNEKT 1
20 01610310054 JleBasa NonoBWHa Kopnyca peayKkTopa 1




(rampPIronN:

Power & force

NnntocTpmpoBaHHbIA KaTanor 3anacHblX YacTen

Moaenb: GC243E

-
¥
»

Ne ApTUKYN HaumeHoBaHMe K-so | Ne ApTuKyn HaumeHoBaHuWe K-80
1 01610310001 Pyuka paboueit pyKoaTKM 2 8 01610310018 HWKHAA YacTb paboumnx pyKoATOK 1
2 01610310002 Pbiyar rasa 1 9 01610310015 laiKa KpenneHus paboumx pyKoAToOK 4
3 01610310005 YnnotHuTenbHana BTyaKa 17x20x20 1 10 01610310021 bont M8x145 2
4 MNepemblyka mexay pyKoATKamu 1 11 01610310012 Tpoc rasa 1
5 01610310014 JleBas pabovasn pyKkoaTKa 1 12 01610310009 MpaBan paboyan pyKoaTKa 1
6 01610310013 CpepgHAan YacTb pabounx pyKoAaTok 1 13 01610310006 BbikNtoyaTenb 3a’KUraHMA KOMMIEKT 1
7 01610310017 Bont M8x40 4




(rampPIronN:

Power & force

NnntocTpmpoBaHHbIA KaTanor 3anacHblX YacTen

Moaenb: GC243E

Ne ApTUKYN HavmeHoBaHue K-Bo Ne ApTUKYN HavmeHoBaHwue K-s0
1 010107401 bont M5x16 1 16 04020780 Onopa Bo3aywHoro ¢unbTpa 1
2 040204494 KpbiWwKa umanHapa 1 17 01010584 Bont M5x50 5
3 040204522 HWXHAA HakNaaKa KPbILKK 1 18 05020470 PeweTka ¢punbtpa 1
4 01010740 bont M5x16 1 19 07990014 Bo3aywHbivi punbTp 1
5 043216710 Mpoknagka raywmrena 1 20 040207822 Kpbiwka punbrpa 1
6 02050010046 Fnywwurtens 1 21 04022810 3aluenka KpblKn ¢punbTpa 1
7 010106921 Bont M6x55 2 22 02040050 Kap6topatop 1
8 01010740 Bont M5x16 1 23 02070010073 Mpoknaaka nog kap6ropatop 1
9 02060050020 MopwHeBas rpynna 1 24 043214110 Tennounsonatop 1
10 70070130019 Unnnngp 1 25 02070010086 Mpoknaaka nog Tennon3onaTop 1
11 02060050019 NopweHb 40 MM KOMNAEKT 1 26 02070010037 Mpoknaaka umnmHapa 1
12 02020020008 MNopwHeBoe KonbLo 40x1,5 mm 2 27 L7T Cseya 3axkuraHma 1
13 02020030014 CTonopHoe KonbLo 2 28 01010764 Bont M5x25 2
14 164301047 Manew, nopLwHaA 1 29 | 01010523 Bont M5x20

15 03090020022 Uronbyatbit nogwmnnHmk 10x13x15 1 30




(rampPIronN:
Power & force

NnntocTpmpoBaHHbIA KaTanor 3anacHblX YacTen

Moaenb: GC243E

Ne ApTuKkyn HanmeHoBaHue K-Bo Ne ApTuUKyn HanmeHoBaHue K-80
1 180402100 CrapTep 3/1eKTPUYECKUIA KOMMNEKT 1 11 | 02020050 KapTep, ctopoHa maxoBuKa 1
2 02050100006 Mnata cobayek cTapTepa 1 12 01010552 Bbont M5x35 4
3 03100010032 CanbHUK KoneHBana 12x22x7 1 13 [ 980153007 CanbHuK KoneHsana 15x30x7 1
4 02020190 Kaprep, cTopoHa craptepa 1 14 | 02030033 MaxoBuk 1
5 07010210 Mpoknagka kapTepa 1 15 | 01020001 laitlka M8 1
6 03090010016 MNoalwmnnHUK KoneHsana 6202 2 16 01040180 Iposep 1
7 05040043 KoneHsan 1 17 01040121 LLlai6a 8x18x1,2 1
8 951103130 LInoHKa maxoBuKa 3x5x13 1 18 | 01010757 Bont M5x20 1
9 01050170 LWTnT 7x5,5x11 2 19 | 02030120 MarHeTo 1
10 01010740 Bbont M5x16 2




(rampPIronN:

Power & force

NnntocTpmpoBaHHbIA KaTanor 3anacHblX YacTen

Moaenb: GC243E

Ne ApTUKYN HavmeHoBaHue K-Bo Ne ApTUKYN HavmeHoBsaHue K-s0
1 18040320 Bak TonausHbIN ¢/0 1 9 18040271 3awuTa TonAMBHOro 6aKa 1

1 18040321 BaK TonaMBHbI HOBOro obpasua 1 10 01010764 Bbont M5x25 2

2 03020080 LLnaHr npanmepa 1 11 01040121 LWai6a cuenneHnsa 8x18x1,2 2

3 03020090 YNNOTHEeHMe WNaHros 1 12 033145100 CuenneHwue 1
4 03020070 TONAMBHbIN WNaHr 1 13 03040050043 LWai6a 6onTa cuenneHus 2

5 02050120002 TonnusHbI GUbLTP 1 14 02020130003 BonT KpenneHua cuenneHuns 2

6 04020611 Mpo6ka TonnamusHoro 6aKa 1 15 02020330 KpbiwKa cuenneHuns 1

7 03020050 PesuHoBbIii bydep 2 16 | 01010720 Bont M5x12 2

8 01030200 BuHTt M5x14 1







